




Quadratic Equation





−𝑏 ± 𝑏2 − 4𝑎𝑐

2𝑎

Type of Equations

Unitary Equation

( ax + by + c = 0)
Quadratic Equation

( ax2 + bx + c = 0)



1. X > Y

2.X < Y

3.X  ≥ Y

4.X  ≤ Y

5.X = Y 

or CND





EQUATION SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +





EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

50x² – 60x + 16 = 0 

20y² – 32y + 12 = 0 

1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND



EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

12x² – 2x - 4 = 0 

10y² – 9y + 2 = 0 
1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND



EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

x² + x - 2 = 0

y² – 9y + 20 = 0 

1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND



EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

x3 - 371 = 629 

y3 – 543 = 788 

1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND



EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

961 x+ 1234 = 1482 

1024 y + 1196 = 1420 
1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND



EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

2X2 - 17X + 36 = 0

15Y2 - 16Y + 4 = 0

1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND



EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

7X2 - 41X + 30 = 0

7Y2 - 26Y + 24 = 0

1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND



EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

x - 2401 = 0

𝑦 - 7 = 0
1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND



EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

21X2 - 17X + 2 = 0

56Y2 - 15Y + 1 = 0

1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND



EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

30x² – 44x + 16 = 0

10y2 + 14y − 48 = 0  

1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND



EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

8

𝑥
+ 

3

𝑥
= 𝑥

y2 −  
14

5

2

𝑦
= 0  

1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND



EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +

x² + 3 3x - 84 = 0

y2 + 9 3y + 60 = 0  
1. X > Y

2. X < Y

3. X  ≥ Y

4. X  ≤ Y

5. X = Y 

or CND




